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Bonbwon gpaxkox

NMarepuans MHCTDYMENMTD! : OCHOSMEE UBETS Cepuid 1 oparsessii ~ 820m/400 rp - 4 waybea cepoit , 1 wrybox
OPAHMEBOR PN, TEMMO- COPUN, BENtMA, WeATHIR, CHHNUA, CBETA0- CEPUR, veprban — 13000/400rp - scex no 1
RAOKY, A ABOMHOR HHTH =~ KEPIONOK 2,0 MM % OAMHIDHOR HWTH = xpinok 1,75



35. paa; (nomycr. Cc ManaoMm b Cnea,. 4 NOMYCT. C MaKnAoM, 2 NOAYCT. € MawQoM smecte) x 3 pasa, (cr. 6/m o cnep, 4 cr.
6/m, 2¢1. 6/ smecre) x 3 pasa = 30 nera

36.pan; (NOTYCT. C HAKHAOM B Cnes. 3 NOTYCT. C HaKKRAOM, 2 NOAYCT. € HaMaoM sMecte) x 3 pasa, (cr. 6/ ncnep, 3 .
6/w, 2 1. 6/msmecre) x 3 pasy = 24 neTa

37.pap; (2 nomycr. ¢ HaKknaOM pvecTe)x 6 pad, (2 cr. 6/ smecre) x 6 pad = 12 neTa.

I8. pan: (2 ¢t 6/n amecrelx 6 pas = 6 cr, 6/n, sdorinte pabory

Cembor Kaaba hi i

Teno: 2 a/n, Apoisi. T LineT: OCHORsON Coprent

1paa 6¢r. 6/m

2pnn owasn cr. 6/m2cr.6/m=12cr. 6/n

3.pag(lcer. 6/u 2cr. 6/uncnepn . 6/uix6pan= 18 cr. € /m

dprp (cr. 6/necneg 2¢1.6/m, 2¢1 §/me e, o1, B/m) x 6 pas = 24 cr, B/w
Spaa fcr.6/mscnea. 3cr.6/m, 2cr. 6/mocren cr. 6/m) x 6 pas = 30 cr. 6/u
6.paa (cr. 6/umcnen 4. 6/m, 2¢r. 6/mncnep, cr. B6/m) x 6 pas = 36 1. 6/m
Tonp [cr. 6/us cnen Scr. 6/m, 2¢1. 6/mecren, cr. 6/m) x 6 pas = 42 cr, 6/n
Spap lcr.6/mecnen 6cr.6/m, 2. 6/mocnen cr. 6/mixbpas =48 cr. 6/w

9. paa: (cr, B/un cnen 7¢r. 6/m, 2c1. 6/m e caep, cr. B/mix 6 pas = 54 cr. B/w
10.pap (¢r. 6/mecaen Ber, 6/u, 2¢r. 6/mBenen ¢1. 6/u) x6pas = 60 ¢cr. 6/n
11. pap; [cr. 6/uescnen 9cr.6/m, 2cr. 6/mpcnen, cr. 6/u) x b pas = 66 cr. 6/n
12.pap [cr. 6/uacnen, 10cT. B/u, 2¢cr. O/nncnen ¢r. 6/u) xbpar= 72 ¢r. 6/m
13. pna (cr. 6/u s cnen 11 cr. 6w, 2¢r. 6/m B cnen 1. 6/u) x 6 pas = T8 ¢r. 6/n
14. papa; [cr. 6/uscnen 12cr.6/m, 2cr. 6/mbcnen c1. 6/u) xGpas= 84 c1. 6/m
15 - 18 paane: v, 6/u o vamay, 1. 6/ no kpyry = 84 1. 6/w

19. paa: cr. 6/m 0 cnen 70 c1. 6/n, 1 nomycronbue., 1 8/n, nosepuyTs

20. paa; A) nporrycrmure enel. 1. 6/m, cr. 6/u e cnea. 2 1. 6/m, nomyer. cnakngom o cnep S cr 6/m, crb/uecnep 2 o1
6/w, 1 nonycronbux, 1 8/n, nosepsyto



43. wp. pan; cr. 6/u 0 cnep. 26 cr. 6w, 1 nomycronbn, 1 o/n, nosepuyme

44.xp. pan: A) nponycrirs caed, . 6/m, <r. 6/n s caep, 2 cr, 6/, NOAYCT. ¢ naknaom B chel, 17 nera, cr, B/uncnep, 2
cr. 6/, 1 nosycronbux, 1 8/n, nooepsyTs

B) npoarycrvre cnel, €. 6/i, cr, 6/up cnen. 2 €r. 61, nomyer, ¢ maknaom b cnea 17 neta, cr. 6/ s cnen, 2 cr. 6/, cr,
6/u e coepn 3 cr. 6/u, Borasmrs won, Metxy

45, wp. pap: cr, 6/w b xawa, 1, 6/u no xpyry = 30 ¢, 6/n

46. wp. pap: (cr.6/mecnen 9cr.6/m, 2cr. 6/mscnen 1. 6/u) x3pasa=33¢r. 6/m
47.-50.0p. pag; cr. 6w n wawgn, v, 6/u no xpyry = 33 ¢1. 6/n

51 xp, pap (cr. 6/mecaen 10cr, 6/u, 2¢r, 6/uncnen 1. 6/n)x 3pasa= 36 ¢r. 6/m
S2.vp. pan; cr. 6/m v xawa, cr. 6/n no wpyry = 36 1. 6/

53. xp. pan; cr, 6/u n cnen. 15 . 6/m, 1 nonycronbux, 1 0/n, nosepuyTs

S4.xp. paa: A) nponycruts cnen, or. 6/m, €1. 6/ s cnen, 2 . B/m, nONyCT. € vakmnaom 8 chea. 25 nera, cr, B/w e cnen 2
cr. 6/m, 1 nomycronbix, 1 a/n, nOBepHyTH

b) npoarycmwre cnea. 1. 6w, ¢1. 6/u s cnea. 2 €1, 6/m, nosycr, cmaknaom s Cnea. 25 neta, cr. 6/m s caen, 2 ¢t 6/, cr,
6/u e cnen, 2 cr, 6/w, BCraswmmy HOB, NeTxy

SS. wp. pap: cr. 6/m b xawn, cr. 6/u no xpyry = 36 ¢1. 6/

S6. 0. pap (cr.6/muncnen, 11 cr. 6/m, 2cr. 6/np cnea. or. 6/u) x 3 paza = 39 ¢r. 6/m
57, xp, pap cr, 6/v o xawa, ¢, Gfunorpyry = 39cr, 6/u

58. wp. pap: cr. 6/u 6 cnen 34 1. 6/w, 1 noycronbne, 1 8/n, nosepuym

59, 5p. paa; A) nponyctvre cned, 1. 6/, cr. 6/ e cnen, 2 cr. 6w, noaycT. ¢ vanmaom B cneld. 26 neta., cr. 6/n o cnen. 2
cr. 6/m, 1 noaycronbux, 1 8/n, nosepwyTs

6) npoaryctmrn cnea. ¢r. 6/, cr. 6/u a cneg. 2 1. 6/u, NOYCT. ¢ MaknaoM b Cned. 26 neta, cr. 6/mncnepn 2cr. 6/u, 1
nosycronbux, 1 8/n, nosepmyTs

C) npoarycmnre cnel. €. 6/i, cr. 6/ p cnel. 2 1. 6/, noaycr. ¢ maxknaom n cnel. 26 neta, cr. 6/mocnen, 2c¢r. 6/n, 1
nosycronbux B naaycrosbux or paga A

A) npoarycramn cne, €r. 6/u, ¢, B/u b cnen. 2 €1, 61, NOMYCY, ¢ HaKRAOM B CeA. 26 neTa, 1. O/macaep, 2¢Y, B/n, ) cCr,
6/m 8 nosycronbux ot paaa b, cr. 6/m b cnen. 4 o1, 6/, BCTaouTn HOB. METRY

60.xp. pap; cr, 6/ 8 vawg, €r, /1 no xpyry » 39 ¢r, 6/n
61. xp. pap (cr. 6/mecnen 12¢r.6/u, 2¢r. 6/nscnen. 1. 6/mix 3pasa =42 ¢r. 6/m
62.xp. pap; cr. 6/ o vama. cr. 6/ o wpyry = 42 1. 6/m

63.xp. papy v, 6/u 8 chea, 35 cr, 6/wm, 1 noaycronbng, 1 a/n, noaepym

64.xp. pan: A) nponycrute chen, cr. 6/m, c1. 6/ s cnen 2 cr. 6/m, nomycT. ¢ nakmaom 8 cnea. 26 neta, cr. 6/ws cnen 2
¢r, 6/u, 1 noaycronbux, 1 a/n, noBepHyTy

B) npoarycrvre cnea, <. 6/, c1. 6/u B cnea. 2 1. 6/m, nomycr. c maknaom b cnen 26 netn,, cr. 6/mecoen 2c¢r. 6/m, cr,
6/mscaen 5cr, 6/m, 1 noaycroabne, xonuntn paborty, 306Ch NPHMILMTL NO AWK 1 vact, 1



42. 43 Kp. pagei:cr. B/wo vawg cr. 6/ uno wpyry =42 c1. 6/m

A4.0p. papn: cr, 6/u e cnea. 41 cr, 6/m, 1 noaycTontn, 2axonumnTn PaOOTY, AAECH NPHIUME, NO MK A 2 wacT,

Manmn gne cLumsanmn

2ANICY.: 20/N, HaYaTE C KOMYMES XDOCTA SBORM. HHTH.

1.-2.xp. prae: 6¢1. 6/

Iep.pap(lcr.6/w, 2¢cr. 6/uscnen cr.6/m)x3pasa=9c¢r. 6/m

4. - Sup. pageecr, 6/um kama cr. 6/u no xpyry = 9c¢r. 6/n

6. xp. pap (cr. 6/nscnen, 2¢r. 6/m, 2¢r. 6/macnep, cr, 6/u)x 3 pasa = 12 ¢r. 6/n
7.-8up. paapa: cr. 6/m s nama, cr. 6/unoxpyry = 12 cr. 6/m

9. xp. pap: 1 cr. 6/w, 1 nonycroabux, 1 a/n, nosepuyts

10, xp. paa: A) aponycms cned. €F. 6/, ¢ 6/ns cnen, 2 cr 6/, NOAYCT. € HAXMAOWM B cnea Snein, ¢r. 6/ e caen, 2
cr. 6/, 1 noaycronfiux, 1 8/n, nosepryTn

B) npoarycmre cnea, 1. 6/, 1. 6/n s cnea 2 1. 6/m, noycr, ¢ maknaom 8 Cnea. Sneta, <r. 6/mescaen, 2cr, 6/n, 1cr,
6/u, Bragsmrn HOB, MeTRY

11. wp. pup cr. 6w 8 xaowp, v, 6/ nospyry = 12 ¢1. 6/

12.6p. pap (cr.O0/mpcnepn 3cr. 6/u, 2cr. 6/uncnen. 1. 6/u)x3pasa=15¢cr. 6/m
13, xp. pag; cr, 6/u 8 xiowa, v, 6/1 no xpyry » 15¢r, 6/m

14. wp. pap; cr. 6/n 8 cnen. 13 1. 6/, 1 nonycronbux, 1 8/n, nosepuyte

15.xp. pan: A) nponycrvte cnep, 1. 6/m, cr. /e cnep, 2 cr. B/w, nonycr. ¢ nanmaom o cnel. 7 neta., cr. /Mo cnepn, 2
cv. 6/u, 1 nosycronbue, 1 8/n, nosepsiyts

b) npoarycrvte cned. €. 6/u, 1. 6/u s cneg. 2 1. 6/, nosycr. c makngom o cnel 7 netn, cr. 6/macnepn, 2cr. 6/, 1.
6/w, Bcraours nos. metny

16.0p. pan: cr. 6/un vawa 1. 6/u=15¢cr1. 6/u
17. xp. pand: {cr. 6/n ncnen 4¢r. 6/n, 2¢1. 6/ cnen, 1. 6/m) x 3 paza » 18 ¢1, 6/w
18. - 21 0p. paa; cr. 6/n o xaowa, cr. 6/ no xpyry = 18 c1. §/m

22.vp. pap; cr. 6/u 0 cnep 8 or. 6/1, 1 noycronBux, 1 a/n, nosepyTs



X) npoorycture enea, 1. 6/u, cr. B/u b cnep. 2 1. 6/, nosycr. c marngom o enepn 22 netn, cr.6/me caepn 2 cr. 6/n, 1 cr.
6/m 8 nosaycronbx or pnaa b, 1 8/n, noseprye

V1) npoayctute cneld. 1. 6/u, cr. 6/u o cnen. 2 c1. 6/m, nosycr. c maknaom p cnen. 22 netn, cr. 6/mocnepn, 2 cr. 6/n, 1
noaycronbux o nonycronbux or paga A, 1 8/n, nosepwyTs

) npoarycrur cne. €1, 6/m, cr. 6/u n cnes. 2 €. 6/1, NOMYCT, C HaKRAOM 0 Chea. 22 neTh., cr. 6/mncaep, 2 cr. 6/n, )
noaycronbux s noaycronbux or paga b, 1 o/n, nosepuy

K) npoaycmmrn ened, €1, 6/i, cr. B/ e cnea, 2 1. B/m, nomyCr. ¢ maKknaoMm B Cnel. 22 neta, cr. O/macnepn, 2cr. 6/u, 1 cr.
6/u 8 nomycronbux or paga A, 1 noaycronbue, 3anomdnTe pabory (00T - KPYTan CTOPOMHA ANA NHMMH NPHLLIMBIM AR |

Yacmnel
Wacteld
Nvirnn
CLUMSI M
YacmeS
Wate 6

YacTe 2

1.9aCT.: 2 0/, ADORN. MHTE , CAEMNITE 2 ACTAMA

lLed:6cr. 6/m

2. -3rd:cr. 6/mewanp cr. 6/mnokpyry = 6 1. 6/m
4.ed:2cr.6/mpncnen . 6/u cr. 6/uncnen Scr. 6/u=T7cr. 6/w
S. - 7.0d: ¢v. 6/ xama, 1. 6/m 0o kpyry = 7 €1. 6/m
Brd:2cr.6/mpenen cr. 6/n,cr.6/uncnen 6c1. 6/u=8cr. 6/u
9.« 12.¢d: cr. 6/m 0 wamp, cv. 6/m no wpyry = 8cr. 6/n

13.0d: 2¢r. 6/nuscnen cr. 6/m, cr. 6/ cnen, 7cr. 6/m=9cr. 6/m
14.- 18.rd: cr. 6/m 8 v, cv. 6/1 no wpyry = 9 cr. 6/n

19.rd: 2cv. 6/uncnea cr. 6/, cr. 6/macnen Ber. 6/m = 10 cr. 6/n



) npoayctvre cneg. 1. 6/u, c1. 6/u n cnen. 2 o1 6/u, nomycr. c maknaom o cnes 42 netn, cr. 6/mocnepn, 2 cr. 6/m, 1 cCT.
6/m 8 nosycronbux or praa b, cr. 6/m s cnen, 7 cr. 6/n Berasne HoB. meTxy

12. - 14.9p. panp: 1. 6/ 0 wawa, cr. 6/m no xpyry = S6cr. 6/n
15 wp. pap cr, 6/un cnen 47 ¢1. 6/m, 1 nonycronbux,, 1 a/n, noaepuyrs

16. »p. pap; A) nponyctrte cnesl €1. 6/m, ¢1. 6/ s cnen, 2 cr. 6/m, nonycr. ¢ waxnaom s cnea 42 netn, cr. 6/m s cnen. 2
ct, 6/w, 1 noaycronbux , 1 8/n, nosepsiyrn

6) npoarycrmte enea. 1. 6/w, c1. 6/u B cnea. 2 . 6/m, nomyer. c maknaom b cnea 42 netn, cr. 6/m o cnen 2cr. 6/u, 1
nosycronbiux, 1 8/0, noBepsyTL

C) npoarycvre cnel. 1. 6/, cr. 6/n B cnea. 2 . 6/m, nomycr. c makngom o cnen. 42 neta, cr.6/m o enep, 2c1. 6/m, 1
nosycronbux 8 noayctonbux or paaa A

A) nporvycrure cnen, 1. 6/u, cr. 6/u b cneg. 2 ¢1. 6w, noaycr. c marngom s cnen, 42 neta, 1. 6/mecnen, 2¢cr. 6/m, 1
cr. 6/msnoaycronbux orpnaa b, cr. 6/m s coen, 7 cr. 6/n, Beraswte wob. meTy

17.5p. pag cr. /w0 wawg, cr. 6/u no npyry = 56 ¢r. 6/

18, »xp. pap (cv. 6/m e caen 18cr, 6/u, 2 v, B/usmecre)x 2 pada, . 6/m o cnepn 14 €1, 6/, 2 ¢r. 6/ amecte » 53 ¢y, 6/u

19. wp, papy cr, 6/w 8 xaowa, €, 6/ N0 xpyry » 53 ¢r. 6/m
20. vp. pap: cr. 6/u 8 cnen. 46 1. 6/m, 1 nomycronbax., 1 8/n, nosepuym

21. %p. pap A) nponyctute cneq, 1. 6/m, 1. 6/m s cnen, 2 cr. 6/m, noayer. ¢ vanmgom e caen, 39 neta, cr. 6/uncnen 2
cr. 6/1, 1 nomycronbus_, 1 8/n, nooepsyto

B) nporrycrmrn caep, cr, B/u, cr. B/u o cnep 2 <Y, &/u, nosyCr, ¢ Haknpom p Enen 39 neta, 1. O/uecaepn, 2cr,. 6/n, )
nosycronbie, 1 8/n, nosepryTs

C) npoaryCmre Cned, 1. 61, <1, 6/n B cne. 2 €1, 6/, NOMYCT, C HAKKAOM B CNeA. 39 neTa, cr. 6/mncaep, 2¢r. 6/n, )
nomsycronbiue. 8 noaycronbux or paaa A

A) npoerycrvrn Cnel. <. 6/u, €, 6/u p cnea. 2 1. G/, nOMyCT, € Haknom B e 39 neTa, ¢r. O/macaepn, 2c¢r. B6/n, 1 Cr,
6/m 8 nomycronbux ot paaa b, cr. 6/u n cnen 6 €1, 6/, BCTannTe HOO. METKY

22.%p. pap: Y, 6/n 8 kama <1, 6/1 00 kpyry = 53 ¢1. 6/

23.vp.pap (cr.6/mocnen 11cr. 6/u, 2cr. 6/uamecre) xdpasa, 1 cr. 6/m =49 cr. 6/n
24.vp. pap; cr, 6/ o waw, v, 6/u noupyr = 49 ¢r, 6/1

25. vp. pap; cr, 6/m 8 coen 42 <1, 6/, 1 nomycronbnk, 1 o/n, nosepuyts

26. vp. pan: A) nponyctmre cnea. . 6/m, cr. 6/n s cnen, 2 cr. 6/w, nonycr. ¢ waxmaom e cnea. 34 netn, cr. 6/m b cnen. 2
¢t 6/u, 1 nosycronbux, 1 8/n, nosepsiyrs

b) npoaycwre cnen. 1. 6/, cr. 6/u B cnen. 2 1. 6/w, nonycr. c maknpom o cnel. 3 netn., cr. 6/mpcnen 2c1.6/n, 1
nomaycronbnxe, 1 8/n, nosepsyrs

C) npoarycrvre cnel. 1. 6/u, cr. 6/u B cnea. 2 cr. 6/m, nomycr. c makngom o cne. 34 neta, cr.6/mocnen 2c1. 6/n, 1
nomsycronbue. 8 nosycrondux or pnaa A



Ird:cr.0/mocenen Ter. B/u, 2cr. 6/nomecre, cT.0/mocnen Ger. 6/u, 2cr. B/uamecre, cT.0/moenen 14 1. 6/n, 2
cr. 6/nsmecre, cr. 6/mecaen, 6cr, 6/w, 2 cr. 6/nsmecre, 1. 6/meocaen 7cr. 6/u=44cr. 6/n

4. rd: cv. 6/m 0 wawg, cr. 6/m no xpyry = 44 cr. 6/n

S.ed:cr. 6/mnenep, 3 cr. 6/u, (2 NOAYCY. ¢ HanmaOom 8 can, 1. O/m) x 3 pasa, ¢1. 6/n s crep, 4 cr, B/, (2 nomxr. ¢
Maknaom o cnen, or, 6/u) x 3para, cr. 6/m n cnep 4 cr, 6/, (2 noayer. cnanmaom e cae, cr. 6/ mix 3 pana, cr. 6/m e
cnep, 24 cr. 6/u =53 neta (caenars cycran g py«. )

6.rd: cr. O/mncnepn, 3 cr. 6/u, (2 nonycr. ¢ nasmaom amecte) x 3 pasa, 1 cr. 6/w, 2 cr. 6/s omecre, 1 <. 6/, (2 noaycr. ¢
Maknaom omectelx 3 pasa, 1 cr. 6/, 2 cr. 6/m smecre, 1 cr. 6/n, (2 nonycr. ¢ makmgom amecte) x 3 pasa, cr. 6/m o crep,
Bcr. 6/n, 2¢cr. 6/usmecre, cr.6/mpcnen 4ct. 6/n, 2¢r. 6/usmecre, cr. 6/mocmen 7Tcr. 6/u=40cr. 6/n

7.-8rd:cr. 6/mewamg, cr. 6/ noupyry = 40 cr. 6/m

9. ed.cr.6/muemen 7cr, B/u, 2t Bf/unmecre, <. 6/macaen 4cr, 6/u, 2 ¢, 6/unmecre, <. 6/mpcnen 11¢Y,. 6/n,2
cr. 6/ smecte, cr. 6o cnen dcr. 6/u, 2 cr. 6/ omecre, cr. /M cnepn, 6cr. 6/u, = 36 cr. 6/n

10, - 16.¢d: cv, /1 8 xiwa, €Y. 6/ N0 xpyry » 36 <Y, 6/m
Tonoxo am npas. pyx.: 16.rd: c1. 6/m o cnep, 5 cr. 6/, 1 8/n, nosepyTe,

A) nponyctute caep, cr. 6w, cr. 6/u s caepn, 2 cr. 6/, nonycr. ¢ nanmgom e coen, 19nera, cr. 6/un cnea 2cr. 6/w,1
nosycronbux, 1 8/n, nosepwyTs

Binponycmvre cnea. 1. 6/w, v, B/ s cnepy, 2 €1 O/m, NnOonyCT, ¢ naxkmaom B cned 19 nera, cr, 6/m e cnen 2 ¢t 6w, C1.
6/mecnen 28 cr. 6/u, BCTabKTL HOB. METRY

A obenx wor,

17.1rd: (2 c1. 6/ smecre, Cr,. O/ne cnen 2<r. 6/nm 9 pia= 27 ¢r. 6/m

18. rd: cv. 6/w 0 xawg, cv. 6/ no spyry = 27 c1. 6/m

19.1d: (2 cr. 6/mn cmep, v, B/u, cr. Bfmp cnen 2¢r, 6/u) xIpay « 36 ¢r. 6/u

20, - 26.ed: cr, 6w B vawa, cv. 6/ 0o xpyry = 36 ¢1. 6/m

27.1d:[cr.6/mecnepn 11 cr. 6/, 2cr. 6/necnep. cr. 6/m) x 3 paza =39 ¢cr. 6/m

28, - 29.¢d; cv, B/n o vaway, v, /1 00 xpyry = 39 ¢r. 6/K

30. rd: Neean wora: Npasan nora:

Cr. 6/nncnen 12 cr. 6/m, 1 nonycronbux, 1 o/n, nosepwyte cr 6/un cnes 2 c1. 6/, 1 noaycronbne,
1 0/0, nosepryTy

31. rd: A) npontycmre cnea. 1. 6/m, 1. 6/ s cnen. 2 cr. 6/w, naayct. ¢ naxmgom s cnea. 22 nera, cr. 6/u s cnen 2 ¢t
6/u, 1 nomycronbing, 1 a/n, nosepsiys

b) npoayctmre cnea. 1. 6/, 1. 6/n B cnea. 2 1. 6/m, nonycr. c maknpom b enea. 22 netn, cr. 6/meocaen 2cr. 6/u, 1
nomycronbux, 1 8/n, nosepHyTL

Chnponyctue cnea. 1. 6/, c1. 6/ s cnea. 2 cr. 6/m, nomycr. cmakngom b cneg. 22 netn, cr. 6/mocnen, 2cr. 6/u, 1
nosycronbine 8 NOAYCTOAGHK. OF praa A, 1 8/n, nosepHyTh

1) npoayctvre cnea. <. §/u, cr. 6/u s enen. 2 or. 6/w, nonycr. c makngom b enen 22 netn, cr. §/mocnepn, 2 cr. 6/m, 1 cr,
6/n s nonycronbux ot pras b, cr. 6/m B cnen Scr. 6/u BCTannTy HOS. MeTxy



30, pag: 2 cr. 6/v amecre, . 6/nacnen, 18cr. 6/wn, 2 cr, 6/u amecre = 20 cr, 6/w
31 pap 2 cr. 6/m emecre, cr. 6/ s cnen 16 cr, 6/w, 2 c1. 6/n smecre = 18 cr. 6/w
32.papn; 2 cr. 6/m nmecte, c1. 6/mocnen, 14 cr. 6/n, 2 c1. 6/n smecte = 16 cT. 6/u
33, paq; 2 cr. 6/w emecre, <v. 6/u e caep, 12 cr, 6/w, 2 v, 6/u amecre » 14 cr, B/u
3. pna 2 cr. 6/m smecre, ¢t 6/necnen 10cr. 6/m, 2 cr. 6/n smecre = 12 cr. 6/n
35 . paa: 2 cr. 6/m nmecre, 1. 6/ue cnepn, Bor. 6/m, 2 cr. 6/v omecte = 10 cr. 6/m
36. paa 2 cr. O)/v anvecre, CY. O/ cnep, 6 Cr. 6/m, 2 C1. B/u amecre » 8¢r. O/u
37.pra: 2 1. 6/m smecre, c1. 6/ s cnen A cr. 6/m, 2 c1, 6/m omecre =6 ¢1. 6/m
318. paa: 2 cr. 6/m omecre, 1. 6/umcnen, 2 cr. 6/m, 2 c1. 6/u pmecre = 4 1. 6/m
39. pan (2 <. 6/n amecre) x 2 pada » 2 €T, /s BARXITE SOKDPYT “acCT.

40.pap.:cr, 6/n b vawn, cr. /1 noO xpyry, 3peath NOMCTONGMKOM ., SaxomunTe pabory,

XpoCT, LiseT. OCHOBHBIM COpPaIM.

Yacre 1: 66 8/n , caesaITs KONBUO, ABONM, HHTK.

1 wp. paa: cr. 6/m o wamp, cr. 6/m = 66 cT. B/n

2.5p. pap [cr. 6/uscnen 11 cr, 6/u, 2. 6/v omecre)x S pas, 1 ¢1. 6/m » 61 C1. 6/n
3. xp.pna [cr. 6/uscnen 10cr. 6/m, 2 cr. 6/v omecrelx Spas, 1 1. 6/m =56 1. 6/m
4 - Gup. pagse:cr. 6/ e nawma cr. 6/u no wpyry = 56 cr. 6/m

10, xp.pan cv, 6/ua cnea 47 ¢r. 6/m, 1 noaycronbng,, 1 8/n, nosepuyTe

11.xp. pan: A) nponycrute cneq, . 6/m, 1. 6/n s cnen 2 cr. 6/m, nonyct. ¢ nanmnaom s cnen 42 nera, cr. 6/uw s cnep, 2
cr, 6/u, 1 nosycronbux, 1 8/n, nosepsyrn

b) npoarycrmre enea. 1. 6/, cr. 6/u o cnen 2 or. 6w, nonycr. c maknpom o cnes 42 netn., cr. 6/mocnepn 2c¢1.6/un, 1
nomycronbux, 1 8/n, nosepsiyrs

C) npoarycrmre enea. 1. 6/u, cr. 6/u B cnen. 2 cr. 6/m, nomycr. c maknaom b enen. 42 neta., cr.6/mocnen, 2c1.6/un, 1
nosycronbux s noaycronbux ot paga A



1. row; nomy<T, ¢ waxmzom s cned, 17 o/n, 3 nonycr. ¢ nasngom s cnea o/n,
APOTHAONONOWM. CTOPOH, B/N, POAYCT, € raxngom s caen, 17 a/n, 2 o/n, nooepuyms

2. 1OW: NOAYCY, € HANMBOM 8 Cnell 17 nOAyeT, € nanmgom, (2 NOAYCT, € KIEMAQOM B
CACA, NOMYCT. € HaXMAOM) 3 Pad, NOMCT. C HAKKAOM B CNeA, 17 NOMYCT. ¢ HanmZ0m,
AanoranTe pabory

Nepen, worn: ABOH. MUTE. Liser.: 0cHOosMOon Copran,
MINATL C NANBLL. HOF, 2 0/N, CALAITE 3 NANBLALA AN KIWA HOTH, He Jaranumban paliory 3-x nassyen wor
1.rd: 9 cr, B/w
2.rd: [2¢cr. 6/mecnen cr. 6/m, cr.6/mocnen 2cr. 6/n) x3 pasa=12cr. 6/n
3. - Ted:cr. 6/m e nana, cr. 6/m sonpyr = 12 cr. 6/
8 rd: 1 cv. 6/w, 1 nonycroabux, 1 8/n, ncaepuyTe

9. rd;) nponycmre cnea, €. 6/m, 1. 6/ cnen, 2 cr. 6/m, nomycT. c wanngom s coel Snern, cr. 6/m s cnen 2¢1. 6/n, 1
nomycronbnx, 1 8/n, nosepHyTy

b) npoarycrmre enel ¢r. 6/, cr. Ofu s cnea 2 1. 6/m, nomycr. cmaknaom B cnea Snern, cr. 6/mecoep. 2cr. 6/m, 1 cr.
6/H ® BCTABHTY KOA. METRY

10. rd: cr. 6/m 8 vawa, cv. 6/n voupyr = 12 ¢1. 6/m

11.ed:(2cr. 6/muncnepn cr. 6/u, cr. 6/mpncnepn Scr. 6/ulx 2parxa = 14 1. 6/m

12, tdh: cv. 6/m 8 xiown, cv, 6/n soupyr = 14 ¢v, 6/n

13.7d:(2cr. 6/mvcnen cr. 6/u, cr. 6/mBcenen 6cr. 6/u) 2 pas = 16 cr. 6/m

14. rd: cr. 6/w n wawn, cv. 6/m poxpyr = 16 1. 6/1, Me 3axasrimpats palory Kanaoro n3 3-X NaNLUen Hor

B NOCHELAM, NANBIL MO €T, G/ s cae, 6CT, By, HOB, MeETE, OF NANBLL. HOS |

/‘—\f—\\

TENEPHL HAMNITH KO |

1. rd: o nevan 3-x nanvges moe: cr. 6/u s onea Scr. 6/u, sante 2-0A nasey worm w netn. e J.cr. 6/m, cr.6/mocnen 8
cr. 6/w, nepedni ma 14 naney worn mnera onnte s 7.¢1. 6/u, cr. 6/u s cnep 16 1. 6/m, 2- of naney, worn - 1. 6/m s
caep, 8cr, 6/n, 30 naney worw-cr. 6/macnen Scr, B/u = 48¢r, 6/n 2. td: ¢, 6/m 8w, €T, 6/3 NO xpyry » 48 ¢r, O/n



Sep.paa (1ar.6/w, 2cr. 6/uscnen cr.6/mix3 pasa=9cr. 6/m

6.- 7. np. pAA €. O/ 8 xaw, €1, O/1 poxpyr = 9cr. 6/m

B xp.pra [cr. 6/nuscnen 2¢1.6/m, 2¢r. 6/m B cnep cr. 6/n)x 3 pasa = 12 ¢, 6/w
9. up. pap: [cr.6/mecnen 3cr.6/m, 2cr. 6/mncnen, cr. 6/m) x 3 pasa = 15 cr. 6/n
10, xp. pag; (cv. 6/umcaen, A cr, 6w, 2 cr. 6/u n cnen ¢v. 6/u) x 3 para » 18 ¢, 6/n
11.xp. pea: cr, 6/u 8 kama. <1. 6/nno kpyry = 18 ¢1. 6/u

12.vp.pap: (cr.6/mocnen Scr.6/m, 2cr. 6/uncnen 1. 6/u) x 3 paxa = 21 ¢1. 6/m
13. - 2).1d: cv, B/ni & vy, €Y, 61 00 spyry » 21 <1, 6/

22.vp. pap (cr. 6/m s cnen 5cr. 6/w, 2 cr. 6/w omecre] x 3pass = 18 ¢1. 6/m

23.0p. pap (cr.6/mocnen, dcr. 6/m, 2 cr. 6/u pmecte)x 3 pasa = 15 cr. 6/m

24. 5. pap; (cr. 6/umcaen 3cr, 6/u, 2 cr, 6/v omecte) x 3paxa = 12 ¢r. 6/m

25, wp. pap; cr, 6/m o vawa, cr, 6/n no wpyry = 12¢1. 6/

26. vp. pan;: (cr. 6/mecnepn, 2 cr. 6/w, 2 cr. 6/m omecte)x 3pasa =9 cr. 6/m

27,5, paj; cr, B/ o waowpy, v, 6/n poupyr = 9 cr, 6/

28, xp. pap: (1 cr. 6/m, 2 1. 6/m snvecre) x3 pasa = 6 c1. 6/, saxomwente pabory

HIGHHAE A BOKH: CASNATL £ WTYRK, 7 8/N HE COCAMHATE B KOALIO, OLEH M THON
User.: 0000100 Copaii,
1. paa: 6 cr. 6/, 1 8/n, nosepsyTo, Kawa, pag

2. - 17.pna; 1. O/m 0 i, €1, 61 % 6 1. O/H, 3aK0HNTE PABOTY . OTREDHYTS HACTI 85113 1 CLUHTS BMECTE,

CAOMMTE YACTD H LUEWTE ITO BMeCTe

Pomxn: 2 8/n, asois, e, Caenats 2 wryxn: User.: Geswi
1-2uppagpi: 6cr. 6/m
3xp.pap (1er.6/m, 2¢cr. 6/macnen cr. 6/u)x3 paza =9 cr. 6/m

4 -Sxppracr. 6/nerama 1. 6/mnoxpyry » 9¢1. 6/n



6.up.pra (cr. 6/mecnen,. 2¢cr.6/m, 2cr.6/mocnep, cr. 6/u) x3 pasa = 12 cr. 6/mn
7. - 8xp. prA €. 6/m 8 xawa, C1, 6/mno xpyry » 12 ¢, B6/u
.xp. paa; 1 cr. 6/m, 1 noaycronbux, 1 8/n, nosepmyrs

10. »p. pan; A) nponryctrre cnea,. €. 6/, 1. 6/u s cnen,. 2 cr. 6/m, nonycr. ¢ nvanugom 8 cned. S neta, cr. 6/m o caepn, 2
cr. 6/w, 1 noaycronbux, 1 8/n, nosepryro

B) npoarycrvre ened. 1. 6/, cv. 6/n b cnen. 2 1. 6w, nonycr. c makngom b cnes Snetn, cr. 6/mescaen, 2cr. 6/, 1 cr.
6/M, BCTIBHTD HOB. METXY

11 xp. pan,: cr. 6/u o xawn, cv. 6/u no wpyry = 12 ¢r. 6/u

12.0p. papy (cr. 6/mecren 3cr.6/m, 2¢r. 6/nncnen 1. 6/u)x3pasa = 15¢1. 6/1
13.xp. pan: cr. 6/n 8 nawg. cv. 6/ no xpyry = 15 1. 6/m

14, 5. pan; cr. 6/ n cnen. 13 cr. 6/w, 1 nomycronbax, 1 a/n, nosepuyTs

15. »p. paa: A) nponycrms cnes, 1. 6/w, €1, 6/ s cnen, 2 cr. 6w, NOAYCT. ¢ Haxuaom 8 chea, 7 neta, cr. 6/m s caen, 2
cr. 6/, 1 noaycronbux, 1 a/n, nosepryTs

b) npoarycmwrs cnea. 1. 6w, ¢1. 6/n s cnea. 2 €1, 6/m, nosycr, c naknaom s cnea 7 netn, 1. 6/fmescaen 2 cr, 6/u, 1 cr,
6/1, BCTIRNTL HOB, NETXRY

16. wp. pap: cr. 6/m b ko, cr. 6/u = 1S cr. 6/u

17.vp. pap; (cr.6/mncnepn dcr. 6/u, 2cr. 6/mncnen. cr. 6/u) x 3parxa = 18 c1. 6/m
18, - 21. Kp. pra €. 6/m 8 xawg €, O/w woxpyr = 18 v, 6/w

22.vp. pap; cr. 6/u s cnen B cr. 6/m, 1 nomycronbux, 1 8/n, novepuyTs

23, xp. papA) nponyctite ched, 1. 6/m, . 6/m e cnepn, 2 cr. 6/m, nonycr. ¢ wanmgom o cned, 10 nera, cr. 6/wo cnep, 2
cr. 6/, 1 noaycronbux, 1 8/n, nosepwyrs

6) npoarycmmre cned. ¢r. 6/, cr. 6/u a cne. 2 1. 6/u, noaycr. ¢ maknaom b cnes. 10 neta, cr. 6/mncnepn, 2cr. 6/u, 1 cr,
6/n, scTasnTL HOB. METKY

24, vp. pap: cr. 6/u p vawa, cv. 6/ no xpyry = 18 ¢r. 6/1

5. %p, pafy (cr. 6/m e cren, 5cr, 6/m, 2cr, 6/n 8 cnep <. 6/u) x 3 pasa = 21 ¢v, 6/w

26. wp. pap; cr. 6/u b vawa, cr. 6/ no xpyry = 21 c1. 6/u, 3anowanTe pabory

Fmasa: 2 o/n, opmmemure, caemate 2 LUner.: Gen, wepw., menr,, romyd, HaaTe YEPH. HMTRO
1. xpyr:6¢1. 6/

2. wp.paa: 2 cr. 6/m o xampn, cr. 6w = 12 cr. 6/n nepedTn na wenT.

Iup.pap [1er. 6/u, 2¢r. 6/uncnep, 1. 6/mix 6 para = 18 cr. 6/m nepeiTi ma roayb.

4. xp. papy (cr. 6/uscnen, 2¢r. 6/m, 2¢1. 6/ b cnep, o, 6/n) x 6 pas » 24 cr, 6/u nepedinn na Gen,
S.wp.pap; [cr. 6/mscnen 3cr.6/m, 2cr. 6/mocnep, cr. 6/u) x 6 pas = 30 cr. 6/n

6.« 2.ed:cr. 6/m o wamp, cr. 6/mno kpyry = 30 cr, 6/n



27.rd: cv. 6w o xawp, cr. 6/u no wpyry = 38 ¢cr. 6/m

28.rd:cr. 6/mmenen 19¢r. 6/m, 2¢r. 6/mncnep, cr, G/n, cr. 6/mncnen 18 ¢r. 6/m = 39¢r. 6/m
29, - 31.ed: cr. 6/m B v, <1, 6/1 0o xpyry = 39¢r1, 6/m

32.rd:cr. 6/un cnea 34 cr. 6/m, 1 nonycronbux, 1 n/n, nosepwyts

17.1d:A) nponycruts caep, cr, 6w, cr. 6/m s cnep, 2 cr, B/n, nOAYCT. € masnpom s cneq, 20 nera, cr. 6/us cnep, 2 cr,
6/u, 1 nonycronbue, 1 a/n, nosepsyms

b) npoarycmin cnen. 1. 6/n, €1, B/ s cnea. 2 <1 6w, nomyct, cnaknpom s cnea 20 neta, cr. 6/mscnepn 2¢1.6/n, 1
nosycronbux, 1 a/n, nosepHyTy

C) npoaryctvre cnea. <1. 6/, 1. 6/n s cnea 2 ¢1. 6/m, nomyct, c maknaom B cnea 20 nera, 1. 6/m e cnen 2¢t. 6/m, 1
nosycronbux n noaycroabux o1 paga A, 1 0/n, ncaepiyTn

A) npoerycmre enen <1 6/, ¢t 6/u B enen. 2 €1, 6/n, nomycr, ¢ maknaom 8 cnen 20 nera, <. 6/m s caen, 2 cr, 6/n, 1
nosycronbux g naaycTosbux o paaa b, 1 a/n, ncaepuym

£) nponycrure caen, cr. 6/, cr. 6/m s cnen, 2 cr. 6/u, noaycer. c nasmaom s caen 20 neta, 1. 6/mecnen 2¢cr.6/n, 1
nomaycronbine 8 nomyCTonGur oY praa A, 1 8/n, noaepiyTu

Q@)nponycrute caen, cr. 6w, cr. 6/m B caen, 2 cr. 6/n, NOAYCT. C HanZoMm 8 Caca, 8 neTa., 2 NOAYCT. C HAXMA0M B CHtA,
NETA, NOMYCT, C HAKHAOM BCHEA 2 NeTA, 2 NOMYCE, C HAKMAOM B CHEA. NETA, NOMCT, C HAKRAOM B CHea B netn, CT.
O/macaep 2cr, 6/u, 1 noaycranbux p nomeronbux o1 paga B, 1 a/n, nosepryTe

I nponyctmie cned €1. 6/n, 1. 6/n s cnea 2 €. 6/m, noay<Ct. Cmaknaom s cnen 22 neta,, cr.6/mecnen 2¢1. 6/, 1
nosycronbue 1 noMy<TONGHK OF pAsA A, 1 /0, nosepiyTy

X) npoerycrare cnen. <1, 6w, cr. 6/n B cnea 2 <1, 6w, omyCT, C HaKkRAOM Bt 22 neTa, 1. 6/necren 2cr. 6/m, 1 cT,
6/ 8 nomycronbiux or paaa b, 1 a/n, nosepuyms

) npoarycimrn cnea. <1, 6/, cr. 6/u 8 enen. 2 <1. 6/, nosycr. c maknpom B enen 22 netn, cr. 6/meocaen 2cr. 6/n, 1
nosycronbue 8 nonycronbuk oF prad A, 1 8/n, nceepiyTs

") npoayctute cnea. 1. 6/, cr. 6/u B cnea. 2 cr. 6/m, nosrycr. ¢ maxnaom B cnes. 22 neta., or. 6/m o caen 2 cr. 6/, 1 cT.
6/ s nosaycronbex or pras b, 1 GirTe-neTa,, SIcsumuTL PABOTY (1AL NPHIWIME, NO /MKHK A% KONCHSD)

2980T Mavams o1 Beapa worw, Anosi. MiTe., 268/n  LIDET. . OCH00M0R Copaii,
Lrow:3cr. 6/me lcr. 6/w, 1 a/n, nosepuyTs, BASITL PRASMM

2.row:[2¢r. 6/mocnen cr.6/m)3pas=6cr. 6/n

3 row:[2¢cr. 6/mncnen cr. 6/m)6par= 12 ¢cr. 6/n

drow. [1cr. 6/, 2¢1.6/mecnen ¢cr.6/m)6par= 18¢t1. 6/



23.vp. pan: A) nponyctte cnea. €. 6/m, c1. 6/ e cnen 2 cr. B/w, nonycr. c waxmpgom s cneq. 10 neta., cr. 6/un cneg 2
ct. 6/u, 1 nosycronbux, 1 8/n, nosepryrs

b) nponycmTe cnea. <. 6/, cr. 6/u e cnea. 2 1. 6/wm, noaycr. cmarngom b cnel. 10 neta, cr. 6/mpcnen 2 cr. 6/n, 1 cr.
6/w, Bcrasume oe. metxy.

24.vp. pan; cr. 6/u o wawn, cr. 6/1 no wpyry = 18 ¢1. 6/1

5. wp. pap (¢r. 6/mscren Scr. 6/u, 2¢r. B/mpenen <1 6/n) xIpaxa = 21 <1, 6/m
26. vp. pap; cr. 6/u b xawn cr. 6/u no spyry = 21 ¢cr. 6/

27.xp. pag: cr. 6/un cneq. 18 c1. 6/, 1 nonycronbur, 1 a/n, ncaepuyme

28. wp. pap A) nponycTre Cnell 1. 6/, €1, /s chen, 2 cr. 6/m, noaycT. ¢ nannaom s cnea 11 nera, cr. 6/u s cnen 2
cr. 6/n, 1 nosycronbux, 1 a/n, nOdepHyTs

B) npoaryctvre cnea. 1. 6/, 1. 6/u s cnea 2 1. 6/n, nomycr, c maknaom s cnea 11 nera, cr. 6/me cnen 2c¢r, 6/u, Ct,
G/necaen 2cr, B/n, BCrasmmn wos, MeTxy

29. wp. pap; cr. 6/u 8 xawg, cr. 6/n no xpyry = 21 ¢c1. 6/m

30.0p. pap; (cr.6/mocnen, 6cr. 6/n, 2ct. 6/mncnen 1. 6/u) x 3 para = 24 ¢1. 6/m
31, kp. pagy cr, 6/u b xawa, <1, 6/u O xpyry = 24 ¢, 6/u

312.0p. pap: cr. 6/m s cnen 10 c1. 6/m, 1 nomycronbax, 1 8/n, nosepuyTe

13, p. pan; A) nponyctvre cnel. 1. 6/u, cr. 6/ e canep 2 cr. 6/m, NOMYCT. € Hanmaom B cnel. 13 neta, cr. 6/mncnen. 2
cr. 6/n, 1 noaycronSue, 1 8/n, nosepry™

bnponycme cnesy <. 6/, ¢ 6/u e cnep. 2 1. O/m, nomyCr. c nanmgom o cnel. 13 neta, cr. 6/mncenepg 2¢1.6/w, 1
noaycronbux, 1 8/n, nosepmyTe

C) nporiyctmre cne. <1. 6/, c1. 6/u o cnen. 2 ¢1. 6/m, nomycr. ¢ makngom b cnes. 13 netn, cr. 6/mocnep, 2cr. 6/n, 1
nomycronbi. 8 noayctonbux paga A

) nporrycrmrn Cnel. €. 6/u, Cr, 6/u n cnea 2 €Y. B/n, nOmCe, C HaknAoM B Cnea 13 neTa, cr. O/mncaepn, 2 ¢, 6/u, 1 Cr,
6/m 8 nomycronbux ot paaa b, cr. 6/u b cnen. 2 c1. 6/, BerasnTe MOB. METY

34 5. pagy cr, B/u o wiowa, €Y. 6/u no xpyry « 24 ¢r. 6/u

5. wp. pap (cr. 6/mecnen 7Tcr. 6/m, 2cr. 6/ onen 1. 6/n)x 3pasa = 27 1. 6/m
36, -37.vp. pappt: 1. 6/m 0 wamn, 1. 6/m no xpyry = 27 1. 6/m

3I8.xp. pra Cr, 6/un cnea 23 ¢r. 6/w, 1 nonycronBux, 1 a/n, noaeprym

319, xp. paa; A) nponycmre cnea, €1. 6/, 1. 6/ s cnen 2 cr. 6/m, nonyct. ¢ maxmgom s cnea. 15 nera., cr. 6/n s cnen. 2
¢t 6/n, 1 momycronbux, 1 a/n, nosepryTn

B) npoaycTns cnen. <r. 6/i, c1. 6/ B cnea. 2 1. 6/m, nonycr. ¢ maknaom B cnea. 15 neta,, cr. 6/m B coep, 2 cr. 6/u, cr.
6/m e caen, 3 ct. 6/, BCTABNTS HOB. METKY

40. wp. pag; cr. 6/mn o xawg, cr. 6/u nospyry = 27 c1. 6/m
41 0p. pap (cr. 6/mncnen Ber. B/, 2cr. B/unenen 1. 6/u)x 3 para = 30 ¢r. 6/

42 »p. pap cr. 6/m 8 xawma 1. 6/u no »pyry = 30 ¢t 6/m



8/n - s03aywman neTm.

fonoesa: 2 8/n, o, wrtk. OCHOBHBIM UBETOM - COPMM

1pag: 6 cr. 6/m

2. PR b xawa, €, 6/m 2 1. 6/m » 12 €1, B/

Tonallcr.b6/n 2¢cr.6/nscnen 1. 6/m)bpas=18cr. 6/n

4. pag (cr.6/uscnen 2.6/, 2cr.6/macnep, cr. 6/m)6pas= 24 cv. 6/
Span; (cr. 6/uncnen 3¢1.6/w, 2¢1. 6/mmcrep, 1. 6/m) 6 par » 30 ¢v. /1
6. pna [cr. 6/n e cnea 4cr. 6/m, 2¢1. 6/m s cnep, cr. 6/m) 6 pas =36 cr. 6/n
7.pna: (cr.6/uncnepn. Scar.6/m, 2. 6/macnep, cr.6/m)bpar=42 cr. 6/mu
8. pralcr. 6/uecnea 6Cr.0/n, 2. 6/nacrep, cr. /)6 pay= 48 ¢1. O/n
9. pna:{cr. 6/ns cnea. 7<1. 6/m, 2¢1. 6/m B cnepn, cr. 6/m) 6 pas = 54 ¢1. 6/n
10. pap; [cr. 6/mecnen Ber. 6/m, 2cr. 6/mpcnen, cr. 6/u) 6 pas = 60 cr. 6/m
11.pag (cv. /e coen, Fcr, 6/m, 21, 6/w b cnep, cv, B/n) 6 pas » 66 cr. 6/w
12. paa; (cr. 6/ues cnen 10cr. 6/m, 2cr. 6/mBenen ¢1. 6/u) 6 pas =72 cr. 6/n
13, - 28 paga: cv. 6/mmnama cr. 6/ unowpyry =72 cr. 6/m

29.pa0; (2 cr. 6/mamecre, cr, B/nacnen Scr. 6/u)x 2 paxa, 2 ¢r, 6/ amecre, Cr, 6/u n cnen 41, 6/w, (2 cr, B/w amecre,
cr. 6/uncnen, Scor. 6/mix 2 paza, 2 cv. 6/m smecre, cr, 6/us cnep, 36 cr. B/u = 66 cr, B/n

Wpan 1cr. 6/m, (2¢1. 6/rnamecre, cr. 6/nncnen 4¢1. 6/k) xS pas, 2¢1. 6/nsmecre, cr. 6/mBcnen 33¢r. 6/m = 60 cr,
6/

31.paa 1cr. 6/n, (2 NOMYCT, € HAKRAOM BMECTE, NOMCT. € HAKMAOM 8 CHel 3 €1, 6/m) x S pas, 2 NOMYCT. € HIKKAOM
smecre, cr, 6/u nenep, 32 <1, 6/u = S4 netn,

32.pnn; [cr. 6/nuescnen 7 cr. 6/wm, 2¢r. 6/ smecre] x6pas = 48 ¢1, 6/n
33.pan (cr. 6/mpcnepn, 6cr. 6/u, 2 cr. 6/v amecte) xbpar=42 cr. 6/

34 pap [nomyCr, ¢ maknaom B8 cnen S <1, /1, 2 nomyCr, ¢ HaxknaoMm amecre) x 3 pas, (e, 6/u e cnen Scr. 6/n, 2¢1. 6/
smecre) x 3 pas = 36 neTa



S.rd:cr.6/mocmepn 3 cr. 6/w, (2 nonycr. ¢ naxmgom e cneq,. cr. 6/m) x 3 pasa, cr. 6/me caep, 4 cr. 6/m, (2 noaycr. ¢
Maknaom 8 enen cr. 6/ulx I pas, cr. 6/ue coepn, 4 cr, 6/u, (2 nomyct. c waxmgom s cnen, <. 6/m) x 3pass, ¢cr. 6/us
caepn, 24 ¢r, 6/u = 53 nera (caenate Cycras o pyx.)

6.rd: cr. 6/mocnepn, 3 cr. 6w, (2 nonycr. ¢ nasgom smecte) x 3 pasa, 1 cr. 6/wm, 2 cr. 6/ smecre, 1 c1. 6/m, {2 noaycr. €
Haknaom avecte) x 3 paxa, 1¢r, 6/k, 2 ¢r, 6/ amecre, 1 cr. 6/n, (2 noaycr, ¢ Haxnaom svecTe) x3 pasa, 1. 6/m s coep,
Bcr. 6/u, 2cr. 6/unmecre, cr. O/mncnen 4cr. 6/u, 2. B/uamecre, cr. O/mncnepn 7cr. 6/u=40cr. 6/u

7.-8.rd: cr. 6/m e mama cr. 5/mno xpyry =40 cr, 6/

Qrd:cr.6/mopcnen 7Ter. 6/u, 2cr. 6/uemecre, cr. 6/mocnen 4 cr. 6/u, 2 cr. 6/ amecre, cT. 6/mocnen 11 cr. 6/n, 2
cr. 6/memecre, cr. 6/mescmen dcr. 6/u, 2 cr. 6/nomecre, cr. 6/meBcnen Ger, 6/n, =36¢r. 6/u

10. - 15.rd: cv. 6/m b xawy. v, 6/ no npyry = 36 ¢1. 6/M

16, rd: cr. 6/ 8 cnep. S <1, 6/, 1 nosycronbux, 1 a/n, nosepuy™

17. 1d:A) nponycmre cnea, cr. 6/w, nomycr. ¢ maknaosm o cnea. 19 netn, cr. 6/m s cnep, 2 cr. 6/n, 1 noaycronbux, 18/n,
ROBEPHYTH

b) npoarycmre cnea. 1. 6/, 1. 6/u B cneg 2 1. 6w, nonycr. c aknpom b enes 19 netn, cr. 6/m s cnen 2¢r.6/mn, 1
nomaycronbux, 1 8/n, nosepHyTd

C) npoaryctvite cne. €1. 6/, c1. 6/u b cnea. 2 1. 6/w, nomycr. c mannaom b enea. 19 netn, cr.6/mnenen, 2cr.6/u, 1
noaycronbiex 8 naaycroaSux of pras A, 1 8/n, nosepyTs

A) npoarycrure cnen. <. 6/, cr. 6/u B cnen. 2 . 6/w, nomycr. c makngom o cnen. 19 netn, er.6/mocnepn, 2cr.6/n, 1
nosycronbux 8 noaycroabnx or puas B, 1 8/n, noseprymn

£) nponycrute coen, cr, 6/w, cr. 5w ncoen 2 cr. 6/, moaycr. c masmaom s caen,. 19 neta, cr. 6/we cnen 2 cr. B/n, 1
nosycronbiux s nasycroabux or panaa A, 1 8/n, nosepmyTs

@) nponycrure cael, 1. 6/m, cr. 6/m ncaep, 2 cr. B/u, nonycr. ¢ maxmpom e cnel, 19neta, cr. 6/mncnen 2¢1.6/w, 1
nomycronbux o nonycronSux or paga 6, 1 n/n, nosepuye

) nponycvre cned, <1. 6/w, cr. 6/ n cnea, 2 €1. 6/m, nomycr. ¢ maknaom b cned, 19 nera, cr. 6/m o cnep 2cr. 6/u, ]
noaycronbux B nonycromoux ot paaa A, 1 a/n, nosepuyte

X) npoorycrurn cnep. <r. 6/, cr, B/u o cnep, 2 <1, 6/, nomycr, ¢ maknaom ncnen 19 neta, cr. 6/macaen, 2 cr. 6/u, 1 cr,
6/u 8 nosycronbux ot paga b, cr. 6/m o cnen 17 cr. 6/1, NOMYCT. C HAKHAOM B Cnen. 7 NETA, BCTABMTL HOD. NETKY

18, rd: nOAYCY, € masmpom s caen, A nera, cr, 6/up cnep 24 nera, (2 €1, 6/n avecte, Cr, B/un cnen 2¢1. 6/u)x 2 paxa
= 34 neTn.

19, 1d: (2 <. O/ amecre, Y, G/ cnen, 2¢1. 6/u) 2pan, cr. B/uncne 6 <1. 6/n, 2¢1. 6/uncnen, Cr. 6/m, ¢T. 6/m e
cnep, Scr.6/m, 2cr. 6/mn crep, cr. 6/u, cr. 6/uncnen 13 cr. 6/m = 34 neTn

20, td:cr. G/mpcnen JAnera, 2¢r. 6/ ncnen neta,cr, 6/uscnen Aneta, 2¢r. 6/mpcmpn neta, cr, 6/uscnea 14
neTa = 36 ¢v, 6/w

21. - 23.ed: cr. 6/m B ko €1, 6/1 no xpyry = 36 ¢1. 6/m
24rd:cr.6/mncnen 18cr.6/m, 2¢cr.6/moenepn cr. 6/u cr. 6/uncnen. 17 cr.6/m =37 cr. 6/m
25, rd: cv. B/m o vawpy, Cv, 61 no xpyry » 37 ¢v. 6/u

26.1d:cr.6/menen 1Bcr. 6/m, 2¢cr. 6/mBcnen cr. B/n, cr.6/mBcnen 16¢1. 6/m=38B¢r. 6/m



8. paa: 2crc/ue cnep, neta., cr ¢/u nonep,. 6 neTa, NOMYCT. C MaKknaoM b Cnel. Snetn, cr. 6/me cnep, G neta, (2 cT.
6/mamecre; 1¢1. 6/un) x 3 pasa, 2 cr. 6/n amecre, c1. 6/m s caen 6 neTa, NOAYCT. C HEXMAOM BCHeA SneTA CTC/n e
caen, 6 nern, 2 cr ¢/m B nocaeam, neta, = 45 nera, 2 8/n, NOBEPHYTL

S.pna crc/uescnen 7 nerta, nOAYCT. C mannQom s caen Snera, cr. 6/u s cnea 21 neta., NOAYCT. C maxmaom 8 cnen S
neta, cr ¢/u s cnea. 7 neta, = 45 nera, 2 8/n, nosepyTe

10. pra: crc/m e caen. 7 neta, nOaycr. € Haknaom o coen. Sneta, 1. 6/us cnen Bnetn., 2 cr. 6/m smecre, 1 cr. 6/m, 2
cr. 6/nemecre, cr. 6/m s caen, Bnera, NOAYCT. € MarnaoMm B cren, Snera, crc/u s cnea. 7 neta = 43 neta, 28/n,
DOOCPHYTY

11.pan: cre/v B cnen 8 neta, noaycr. € HaKnaoMm B enea. Sneta, 1. 6/m s cren 17 nera, DOAYCT. € Kaxmaom B coen, S
neTA, CYC/np cnea 8 nera, » 43 nera, 2 8/n, NOBEPHYTH

12. pna: cr /e caep, B nera, DOAYCT. C HaKnaoMm B caen. Sneta, 1. 6/ues cnen 6 netn, 5 cr. 6/ smecre, c1.6/n e
cre, 6 neTa, NOAYCT. € KEXMAOM 8 Chel S neta, ct /v 8 onea Bnerta. = 39 nera, 2 a/n, nosepHyTs

13. pap: 2cr /v pcmep, neta, cr c/u s cnea 7 neta, nomyct. c makuaom s cned. S netn, cr. 6/m o crep, 2 neta,
ApoayCTMTL Chea I neta, . 6/m s caen, 2 neTa, NOAYCT, C HAKHAOM B Cata, Sneta, crc/uscnen 7neta, 2¢cre/me
caen, neta. » 32 nera, 2 a/n, nosepsyT,

14, pra; nomycr. ¢ naxmaom s chea 11 nera, cr, 6/n e cnea 10 neta, nonycr. < mdmngom s caen, 11 neta = 32 nen,,
3aK0Hen TS pabory

HOO. M2 BRSITS B NPANOM Hanpatsnenu or paaa 6

15.pan; 1 poagywsansl cr. 6/u o nepo. neta, cr, 6/ ncaen, 19 neTa, NOMYCT, CHAKKAOM B Chea. 20eTh, 1 cre/m, 1 ot
¢ 3/m, 1 cv ¢/u, nosyce. C aKkraoMm B CheR. 2 NeTn., cr. G/me cnen 20 nera, saxowmts pabory  Cumsito obe wactv
BODXHER SEMOCTH BMecTe

BainywaocTe Ma BEPXHEH NEMOCTH

NpetmTe BEPOHCIO HEMOLTE K TONODE

Bepoae raasuie sewv: CACNITE 2 WTYKK, 2 /N, OQMM HMTH,
iper.. OCHOBHOR COpolit.
1 xpyr: 6 1. 6/m (saecey Gyaer nepea. cropos. )

2. -Auppagai:cr. 6/monawp cr. 6/u=6cr. 6/n



9. paa; [cr. 6/us cnea. Bcr. 6/m, 2 cr. 6/m nmecte) x 6 pas = S4 c1. 6/m
60. paa: [cv. 6/umcnen, 7 cr. 6/w, 2 €. 6/m smecte) x 6 pas = 48 ¢v. 6/u
61. pra; (cv. 6/ s cnen 6 cr. 6/m, 2 c1. 6/m smecre] x6 pas = 42 ¢1. §/m
62.pan; [cr. 6/mecaen, 5cr. 6/u, 2 cr. 6/m nmectelx b pas = 36 c1. 6/m
63. pag: (cv. 6/uecnen, 4 cr. 6/m, 2 cr. 6/m amecre) x6 pas » 30 ¢v. 6/w
64. pna [cr. 6/necnen 3cr. 6/m, 2. 6/m anecrelx b pas = 24 ¢1. 6/m
65. paa; (cr. 6/mecnen. 2 cr. 6/m, 2 cr. 6/m omecte) 6 pas = 18 cr. 6/n
66. pa [1¢r. 6/u, 2¢1. 6/namecre) xbpar » 12 ¢y, 6/

67. pra; [2 c1. 6/u smecre) x6 pas = 6 cr. 6/n, saxowumnte pabory

Wea: 45 0/n, CALAITE KON, ABOHM, HATK,

1. pag: 45 cr. 6/m

2. -6.pnani: cr, B/u p waowpy, €1, B3 no xpryry = 45 ¢r, 6/n

7.pna (cr. 6/uscnea 14 cr. 6/m, 2¢r. 6/mbcnen cr. 6/u) x I pasa = 48 ¢y, 6/m

8 - 1lpamei:cr. 6/innama cr. 6/uno wpyry = 48 ¢cr. 6/m

12, pagy (ev. 6/ s cnen, 15cr, Bfw, 2CT. B/mpcnen €1 6/u) x 3 para » 51 ¢r. 6/n

13, - 16, wp.prapi: 1. 6/m 8 xawa, 1. 6/m noxpyr y = 51 cv. 6/m

17.0p. pap; [cr. 6/uscnep, 16cr. 6/w, 2cr. 6/nn cnen. 1. 6/u) x3 pas =S4 1. 6/m

18, - 21, pagm: €. 6/m & xawp, 1. 6/m 00 kpyry » 54 C1, 6/m

22.vp.pap; (cr.6/mecren 17cr. 6/n, 2cr.6/uncnen 1. 6/m) x3pas=57 cr. 6/m

23. pap; cr. 6/m o xawp, cr. 6/m no xpyry = 57 cr. 6/u, 1 8/n, nosepuytn (Aanee sasat prAINK)
24, pAgL nponycTiTy Caen, cr, B/w, 2 cr, B/n amecre, ¢1. 6/ e crep, 38 cr, 6/u, 2 cr, B/n amecre » 40 cr, B/n

25. pna; nponycrute caen, ¢t 6/w, 2 cr. 6/m pmecre, 1. 6/m s cnen 34 cr. 6/u, 2 cr. 6/m BMmecTe, NPONYCTHTS NOCHCAN.
¢t. 6/nu=36¢1.6/n

26. paa: nponycruts caen, cr. 6/w, 2 cr. 6/m omecre, c1. 6/ s cnep, 30 cr. 6/u, 2 cr. 6/n smecTe, NPONYCTHUTE NOCHEAN.
cr.6/u=32¢1.6/n

27. pap; nponycrute caep, cr, 6/w, 2 cr. 6/ omecte, cr. 6/m s cnep, 26 cr. 6/n, 2 cr. 6/u smecTe, NPONYCTHTE NOCHEAN.
cr.6/u=28¢cr. 6/n

28. paa: nponycrure caep, cr. 6/u, 2 cr. 6/u nmecre, cr. 6/m e cnepn, 22 cr. B/un, 2 cr. 6/u amecre, NPONYCTHTE NOCHEAN.
cr. 6/m=24c1. 6/m

79. pag: 2 cr. 6/m omecre, cr. 6/um crep, 20 cr, 6/u, 2 cr. 6/u amecre = 22 cr. B/w



43.»p. pan: cr. 6/u o cnep. 26 1. 6w, 1 nomyctonbn, 1 o/n, nosepuyme

44.xp. pap: A) nponyctute chel, 1. 6/m, cr. 6/n s caep, 2 1. 6/n, nOAYCT. ¢ naknaom e cned, 17 nera, cr, B/uncnep 2
cr. 6/, 1 nosycronbux_, 1 8/n, nooepuyTn

B) npoayctmrn cnel 1. 6/w, €1, G/ n cnes 2 1. Gfm, nomycr, cuaknpaom n cnes 17 neta, cr. 6/mncnen, 2 cr. B/u, Cr.
6/macnepn, 3 cr. O/u, Bcranmm woo. Metey

45, wp. pap; cr, 6/n 8 v, ¢, 6/n no xpyry = 30 ¢, 6/

46. wp. pap: (cr. 6/mocnen 9cr. 6/, 2cr. 6/mbcnen cr. 6/u) x3pasa=33¢c1. 6/m
47.-S00p. pap cr. 6/w 0 wam, v, 6/u no xpyry = 33 ¢1. /1

51 wp. pap (cr. 6/mecren 10¢t. 6/u, 2¢r. 6/uncnen <1. 6/u)x 3pasa = 36 ¢1. 6/
S2.%p. pag; cr. 6/m o vawa, cr. 6/u nospyry = 36 cr. 6/m

S3. xp. pap; cr. 6/un cnes 15 ¢ 6/m, 1 nomyctonbux, 1 a/n, nosepuyTe

S54.xp. pag: A) nponycrute caen, . 6/m, 1. §/u s cnen 2 cr. 6/m, nOAYCT, ¢ Haknaom 8 chea 25 nera, cr, /v cnen 2
cr. 6/n, 1 nomycronbux, 1 a/n, nosepryTn

b) npoarycmmre cnea. €1 6/m, ¢1, 6/n B cnea. 2 <1, 6/m, noaycr, c maknaom 8 enea 25 neta, cr. 6/m e cnepn, 2 ¢t 6/, ct,
6/mscaepn, 2 cr. 6/n, BCrasmTs OB, MeTry

SS.wp.pap cr. 6/ o vawn cr. 6/ nospyry = 36 ¢1. 6/

S6.0p. pap (cr.6/mencnen 11cr. 6/n, 2cr. 6/uncnen. cr. 6/u) x 3para = 39 c1. 6/m
S57.5p. pap cr G/unrama ¢, Ofunarpyry = 39c¢r, §/u

S8. wp. pag; cr. 6/u o cnen 34 cr. 6/m, 1 nomycronbne, 1 8/n, nosepuye

59. wp. pagn; A) nponycvre cned. €1. 6/, c1. 6/ e cnea, 2 cr. 6/m, noycT. ¢ nanmaom B cnea. 26 netn., cr. 6/mn cnen. 2
cr. 6/un, 1 noaycronbux, 1 8/n, nosepmyry

b) npoayctmre cnea. 1. 61, ¢1. 6/un cneg. 2 €1 6/m, NOMYCT. C MaknaoMm b cned. 26 neta, cr. O/mncenepn 2¢r. 6/u, 1
nosycronbux, 1 8/n, nosepwyTs

C) nponyctvite cne . €. 6/, cr1. 6/u e cnel. 2 1. 6/, nosyer. c maknaom n cnel. 26 neta., cr. 6/mncnepn, 2cr. 6/n, 1
nomycronbis 8 noaycronSux or paga A

A) npoorycmrn cnea 1. 6w, cr, 6/u b conea. 2 <1, 6/, nOomyCT, ¢ HaknaoMm B A 26 neTa., 1. O/meacmen, 2cr, B6/u, 1 CT,
6/v mnomycronbiux ot paga b, cr. 6/u 8 cnen. 4 1. 6/, BCTaDUTL OB, METRY

60.xp. pan ¢, 6/u 8 vawa. v, 6/u 0o xpyry = 39 ¢1. O/n

61. wp. paa (cr. 6/mscnen 12cr, 6/m, 2cr. 6/ns cnen cr. 6/m)x 3 pasa =42 cr. 6/m
62.0p. pap cr. 6/me nanma cr. 6/uno rpyry = 42 c1. 6/m

63.xp. pan Cr, 6/un cnea, 35 1. 6/u, 1 noaycTanbnx, 1 a/n, nosepuwym

64.xp. pan: A) nponyctute cnen, cr. 6/m, c1. 6/ s caen 2 cr. 6/m, nonyct. ¢ nannpom s cnen, 26 nera, cr. 6/n s cnep 2
cY, 6/u, 1 nosycronbne, 1 a/n, nosepryTy

b) npoarycmre cnen, 1. 6/, c1. 6/ B cnep 2 1. 6/m, noaycr. c maknpom 8 cnen. 26 netn, cr. 6/mecoen 2 cr. 6/u, cr,
6/mscaen 5cr, 6/n, 1 noaycronbne, xonuntn paboty, 306CH NPHMWMTL NO MAHWK O vacT,



32.rd: cr. 6/m p wawp, cr. 6/u no xpyry = 39 cr. 6/m
33.0d: (ev. 6/mncnen, 18 Cr. 6/, 2¢r. 6/nacnen. cr. 6/m) x 2 pana, 1 €. 6/ = 41 C1. 6/w
34, rd: cr. 6/m B amp, ¢t 6/ nospyry =41 ¢c1. 6/n

IS.rd:cr.6/mocnen 20cr.6/m, 2cr.6/mocnen cr. 6/n, cr. 6/mpncnen 19cr. 6/m, 2cr. 6/uacnen, cr. 6/m =43 cr. 6/w

36. rd: Nevan wora: Npasan mora:
Cr. 6/u s cnen 43 1. 6/, 1 8/n, nosepuyTs. ¢t 6/m scnep, 31 cr, 6/, 1 8/n, nosepryre
37. row:cr. 6/upcnen 31 cr. 6/m, 1 8/n, nosepsyTy, BASATL PAAAMMH

38. row: 2 cv, 6/u smecre, cr. 6/ nenep, 27 c1. 6/, 2 ¢v. 6/ smecre = 29 cv. B/u
39.-46.pan,: cr. B/u B rwa, . 64 no xpyry = 29¢r, 6/n
47.row:[cr.6/mecnen 3cr. 6/n, 2cr. 6/momecte) xSpas, 1 cr. 6/m= 24 cr. 6/m
48, row: cr, 6/s n xawg, . 6/u no xpyry = 24 ¢r. 6/n

49, row: [cv. 6/mecnen, 2 cr. 6/w, 2 cv. B/n smecre)x 6 pas = 18 ¢r. 6/m

S0. row: cr. 6/ b xawp, cr. 6/n poupyr = 18¢r. 6/

Sl row: (1 ¢cr. 6/m, 2 ¢r. 6/m anecre) 6 paa = 12 cr, 6/u

52. row: ct, 6/n 8 xiwa, Ct, 6/ soupyr = 12¢1. 6/w

53. row: (2 cr. 6/ swecre) 6 pas =6 cr. 6/m

S4. row: (2 1. 6/m anecre) 3 paa = 3 c1. 6/w

55. row: 3 cv. 6/n smecre, 1 8/n, 3axomvnTe pabory

A Npaman Aurnn

[ ]

weite nocre e 2 pana smecrte, wTodu CReNaTs KOrT™
Npaman Mumna
Kormn: 4 8/n He COLANHATL B XO0MBUO, OAMM, HUTKOW
User.: Sea, caenats 12 petanei
1. row: 3 cr. 6/w, 1 n/n, NoeePHyTE, BA3ATH PALIMK
2. -4 prgae: cr, 6/w 8 xaowg, v, B/u = 3 cr, Bfn

S.row: 2 cr. 6/momecre, 1cr.6/m=2cr. 6/m



20. - 25 rd: cv. 6/nm xawp, cr. 6/u no xpyry = 10 c1. 6/

26.1d: 2 cv. O/ cnel, €1. Ofn, cr. O/ cnen, 9. G6/m = 12 cr. B/n

27. - 32.ed: cr, 6/n 8 xawa, <. 6/w no xpyry = 11 <1, 6/m

33.1d: 2cr. 6/upcnen. cr. 6/m, cr. 6/uecnen 10cr. 6/u=12cr. 6/n

34, - 39.¢d: cv, B/u m vawa, v, 61 no xpyry = 12 <. 6/m

A0 rd:2¢cr. 6/uscnen 1. 6/n, 1. 6/mecren 11cr. 6/u=13¢r. 6/n

41.-49.rd: cr. 6/m o vawg, cr. 6/u no wpyry = 13 c1. 6/m

SO.rd: 2¢v, B/uncnen. 1. &6/m, cv. 6/uecnen, 12¢r. 6/uw 14 cr, B/n

$1.-59.¢d: cr. 6/n B vawn ¢, 6/1 nO xpyry = 14 ¢r, 6/

60.¢d: 2¢cr. 6/uncnep cr. 6/m, cr. 6/umcnen 13 cr. 6/u=15cr. 6/n

61. - 69.0d: cr, 6/1 8 vy €Y, 6/1 N0 xpyry = 15¢r. 6/

70.¢d: 2cr. 6/nmcnen 1. 6/m, cr. 6/uscnen, 14 cr. 6/m = 16 cr. 6/n

71, - 79.0d: cv. 6/u b vawp, 1. 6/n no wpyry = 16 1. 6/

80.rd: 2cr. G/uncnen cr. 6/m, cr. /s cnen, 15cr, 6/u = 17 cr, B/u

81. - 89.¢ed: cr. 6/u B rawa 1. 6/n 00 xpyry = 17 €. 6/, 3460 A NN OPWLLIKSIN A

0. rd:2cr.6/umcnep cr. 6/, cr.6/muncnen 16cr. 6/u=18cr. 6/u

91, - 99.0d: cv. 6/1 m riwa, €1, 61 N0 xpyry, 1 nosycronbne, saxorenTe pabory

2MICTES 8/ - Me CoLaNHNTb B XOALLO., ABOAN. HHTE., CACNITD 2 QETAM

LOCHTE NUKY HA DOCHESMEM PAAY OT YacTH ]

1. row: 4 cr, 6/w, 1 8/n, NCALDHYTEH BA3ITL PAAIMMK,

2.row:2cr.6/mocnen cr.6/m, cr. 6/uscnea 2¢1. 6/, 2. 6/uscnen cr. 6/m=6cr. 6/m
Jrow: 2cr.6/mocnen cr. 6/n,cr. 6/uncnen Act. 6/m, 2¢cr. 6/uecnen. cr.6/m=8cr. 6/m
drow 2cr. Gfmacnen <1, 6/n, cr, B/uscnen 6¢1. 6/, 2¢r, 6/ crepn, cr. 6/m» 10cr, B/w
Srow:2cr.6/mecnen 1. 6/n . cr.6/nscnen Ber. 6/, 2¢c1. 6/uscnen cr. 6/m = 12 cr. 6/n
G.row: 2cr.6/mpcnen cr. 6/u,cr. 6/uncnen 10ct. 6/m, 2cr.6/muncnepn cr. 6/u= 14 cr. 6/u
T.row: 2¢r. B/nncnen 1. 6/n, cr. Bfuncnen 12¢r. 6/m, 2¢r. G/mncnen cr, 6/un 16¢CY, 6/u
Srow: 2cr.6/mecnen 1. 6/n cr.6/uscnen 14cr. 6/m, 2¢ctr.6/mbcnen cr. 6/u=18cr. 6/u

9. row:2cr.6/mocnen cr. 6/u,cr. 6/uncnen 16 ct. 6/m, 2c1. 6/m ncnep, cv. 6/u = 20 cr. 6/u, cO Cnegywoeyero pana
BAIATH KPYTAMM

10, - 18.¢d: cv, B/m o wawy, €1, 6/u o wpyry = 20 ¢r. 6/

19.rd: 2cr. 6/uscnen 1. 6/m, cr. 6/mscnen 19cr. 6/u =21 cr. 6/n



6. row: 2 cr. 6/w omecre, 1 8/n, 3axonunte pabory

Cwure nocne e 2 prad smecte CAeAMS KOTTH
L gpene worn g obewx CTopon:
UseT. . OO400M0R COPali,

Hareath € NammaL 10 2 8/0, He KoM DABOTY Kawaoro M3 3-X NAALUED HOT

1NacT:

1rd:9cr. 6/m

2.rd: [cr. 6/uecnen 2cr.6/m, 2cr. 6/mocnep, cr. 6/uix3pasa= 12cr. 6/n

3.-5.0d:<r. 6/n s nama cr. 6/m no xpyry » 12 C1, 6/n

6.¢d: 1 cr. 6/m, (2 nomycr. cmakngom B enen, 1. 6/u) x4 pass, cr. 6/mocnea 7 ¢1. 6/m = 16 1. 6/m
7.rd: 1 cr. 6/w, (2 noaycr. c maknpom nvecte) x4 pasa, 1. 6/mecnepn 7cr. B6/u=12cr. B/n

8 rd; cr. 6/m v mxmp, CT. 6/ NO wpyry » 12¢r, 6/

Qrd:(2¢r.6/mecren cr.6/m,cr.6/mBcnen Scr. 6/m)x 2 pasa = 14 ¢cr. 6/

10.rd:cr. 6/mncnen Scr. 6w, 2¢cr. 6fupcnen cr. 6/u, cx 6vivnerepn. €. Bfu, 2ct. 6funcenen. . 6/, 1 cr. 6/mu = 16
cr. 6/m

11. rd: cv. 6/m 0 wawy, €7, 6/m no xpyry = 16 ¢r, 6/ie, e 2onumnn PaloTy Kawaoro na 3-x nasuen Hor
B nocae . nassu. wor - 1 1. 6/m,8CTa810TS HOB. METKY

~OT Nanol,. HOr ©

/""\\/‘\\

TENCDL HANATH HOTH.

1. rd: 340 naney worm - €Y. 6/n s caep, Ber, B/u, a3ary 2-0h naney Hofm mneTn. 8 7.¢1. 6/m -cr, 6/u s enen 8¢r, 6/n,
NEPSHTA Ha 1t Naney HOMM M NeTA onATL B 7.¢T. 6/m - c1. 6/mn cnen 16 1. 6/1, 2.0l naney wor -cr. 6/mo cnen 8
cr. 6/un, - naney morm cr.6/mescnen Ber. 6/m = A8 cr. 6/m

2.ed: cr. 6/ o wamp, cr. 6/0 nO xpyry = 48 c1. 6/

3edicr. 6/ mucnen Ty, 6/n, 2 ¢ 6/usmecte, cr. 6/mecaen, 6¢r, 6/n, 2¢t, 6/n amecre, cr. 6/mncnepn 14¢t, 6/n, 2
¢y, B6/uamecre, cr. 6/mncmen, 6cr, 6/u, 2¢r, 6/n amecre, cr. O/mucmepn, 7cr, 6/u» 44 ¢y, 6/

4 rd: cr. 6/vi b wamp, ct. 6/v no xpyry = 44 cr, 6/n



